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At 72 1 £ F#| #=hl BiE Y | BHRFEE E4-1 #E

k& |[Rig 2 | A8 | 39— MESREE | 3DK H11 18,900/ ~ A (1F)
B2E |B 1 ANE | avy)—bE2RE | 3K S57 13,300 ~ HHA

BZiE | BT 1 NE | aVy)—hE2MEE | 3K S53 10,800 ~ BEE-HERA
B2HE |BMF 2 | A8 | avVY—hE2REE | 3K S54 10,900 ~ B -tHHERA
B2HE |BMF 3 | AE | avy)—hE2REE | 3K S54 10,900 ~ B -tHHERA
BZE RO 1 NE | av)—ESRE | 3DK H3 17,900 ~ HEA 1)
B2HE [FENQ 1 NE | aVY)—rESREE | 3DK H5 17,800/ ~ A (38)
BZHE [FNIG 1| 2% | avy)—rE3REE | 3DK H4 18,100 ~ A (30)
BZE |RI® 1 NE | av)—MEIRE | 3DK H6 18,600 ~ HH A (308)
SFRF |EFF 1 NE | avy)—rE2REE | 3DK H5 18,100 ~ HE A (1RE)
HERF |BFFOQ 1 NE | aVY)—rESREE | 3DK H9 18,900/ ~ A (38)
— & |[ 1 AE | AVY)—FE3EE | 3DK H9 19,200/ ~ HEA )
— & |K#H 2 | A8 | 3vVY—hE2EE | 3DK H4 17,100 ~ HH A

& B |[ZH 1 N Ki& 3DK H21 22,600/ ~ HHA

k H [kHE2 1 NE | aVY)—ESMEE | 3DK H11 19,000 ~ HH A (208)
* FE |BHEE—1 3 | AE | avy)—hE4REE | 3DK S53 12,600 ~ HHA

% B |EHEE-3 1 ANE | avy)—+E4RER | 3DK S55 13,600 ~ HHA (408)
Z B |[BFEN—1 2 | AF | avy)—rE4ARERE | 3DK S58 14,600 ~ % A (3RE)
£ FE |[BFBEN-2 1 2NE | aVY)—MEAREE | 3DK H8 20,100~ HH A (208)
® B |H2HFH%HA-1 1 ANE | avy)—rE4REE | 3DK H10 20,000~ A (4F)
® B |#E2F%HA—-2 | 1 ANE | avy)—+E4RER | 3DK H12 20,200 ~ HHA (408)
& T |BFET-1 1 NE | avy)—hE2REE | 3DK H12 20,100/ ~ HEHEA(1F)
B2z |EzRo—2 1 NE | aVY)—MEAREE | 3DK H4 16,800 ~ HH A (408)
N B [IMEG—1 1 ANE | avy)—hbE4AREE | 3DK H14 20,200 ~ A (4F)
Z B |XE25 1 NE 5 55 1t 2K 2 i 2DK H6 7,000 BHE-tHHERA
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